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GENERAL KNOWLEDGE
1. YaAveR q2n gl & Hiex form Seft & fafifa & 7

(A) TR (B) 3 (C) I (D) 3T H ¥ hIg el
In which style are the temples of Bhubaneshwar and Puri built ?
(A) Nagara (B) Dravidian (C) Vesara (D) None of the above

2. H= 1 %o fou U 2, fH & sk 1 AR (A) TUT GER T HR (R) HET TR |
SR (A) : T AT T3S, RAEX FHEH I STRSH 81 &1 H 5 feoe! o HRd He9d H 83T |
HRUT(R) : TR, STk 3TR e U 3T0TERT Soaan e arel UaTE. § 8 8 aU1 YA ol Jesiq
&R AT 2 |

= feu T e § @ TE W g

(A) (A) 3 (R) THT & & 3R (R), (A) i Tl SATEAT HTdT

(B) (A) 3T (R) Tt & &, T (R), (A) H1 T e & Bt B

(C) (A) & 8, g (R) 318 &

(D) (A) 318 &, T (R) ¥ &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Global India Al Summit was recently held at Bharat Mandapam in New Delhi.
Reason (R) : Singapore, Denmark and United States of America are among the highest rated Al and
India’s performance is relatively strong.

Select the correct answer from the code given below :

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

3. 2024 UH.E.U. gRT I HIH-H 75 gal, TeArgH W I Tl i | e & forw ufegss o
THATIE wieh i Afd it § 7
(A) TgHTHTS (B) fopgrem (C) THTERTITIR (D) wTeRwET

Which new drug, approved by the FDA in 2024, targets amyloid plaque in the brain to slow the progression
of Alzheimer’s disease ?

(A) Aducanumab (B) Kisunla (C) Lenacapavir (D) Legambi
4. T =7 TEHR T M T B TS AQT-THTET HT A =T ?
(A) I T (B) BTG (C) HEWTSE (D) HET Y
Which State Government gave status of ‘Rajya Mata — Gomata’ to indigenous cow ?
(A) Uttar Pradesh (B) Chhattisgarh (C) Maharashtra (D) Madhya Pradesh
5. A fafoage <fafie 2024 smnfsa i
(A) e § (B) deTH | (C) grerg | (D) @l |
Asian Billiards Championship 2024 was organised in
(A) Riyadh (B) Tehran (C) Mumbai (D) Dhaka
6. frferfea & @ & ge@ o fova vl 1 fosrar 2 7
(A) I=f =t (B) T WL (C) E<IT HeghT (D) TR¥T SIFRIS,
Who among the following is Youngest World Chess Champion ?
(A) Nancy Tyagi (B) Manu Bhaker (C) Sanjay Malhotra (D) Gukesh Dommaraju
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7. THfARed § 9 SH-91 MY T WAfies s g i oy T8 2 ¢

(A) TTATEHR (B) Ta&ToT (C) wfeca Tfiem DEEERIET]
Which of the following is not a method of primary data collection in research ?
(A) Interviews (B) Surveys (C) Literature review (D) Observations
8. Toreror o wre fafyr w1 S=aeran ford w ST R 7
(A) ST S B) faferm g2 fererifes
(C) S, AT (D) Hehtrd
Who is considered to be the originator of the project method in teaching ?
(A) John Dewey (B) William Heard Kilpatrick
(C) Prof. Armstrong (D) Socrates
9. TINTHeh 3TThei o Tshaleul shi fofert &
a. g A fafy
b. ST JeATEel fafy
c. ATE &
d. T
(A) % b, ¢, d (B) 9 a, b, d (C) %ed a, ¢, d (D) e a, b, ¢

Methods of collection of primary data are
a. Case study method
b. Mail questionnaire method
c. Online resources

d. Schedule
Choose the correct answer from the options given below :
(A) Only b, c,d (B) Only a, b, d (C) Only a,c,d (D) Only a,b,c

10. F=fafEa & 9 wR-91 fre § yredTerh qeamehd i fosmar 78 2 7
(A) TrE" § gar @ foTu gaa fdfsean Je@ e
(B) UTSIshH o 37d | U YeH A o ford s foman san 8
(C) BT ol ITHI ATehd 3 HASNT 6! Tg= H Hee Hidl 2
(D) UfSrerehi st R 6T ITTawThal dTct &1 o SR H Flad T &
Which of the following is not a characteristic of formative assessment in teaching ?
(A) Provides ongoing feedback to improve learning
(B) Conducted at the end of a course to assign grades

(C) Helps students to identify their strengths and weakness
(D) Informs instructors about areas needing improvements

11, Tr=faRea & @ sH-5 My H R TE 2 2

(A) TrEttTeh CRUGHIEE (C) waegu EEENIET]

Which of the following is not a method of research ?

(A) Philosophical (B) Historical (C) Survey (D) Observation
12. frafaRea & @ sF-w1 ranfegs Twm 1 JhR TE 8§ 7

(A) aoft Fehd (B) ferfaa Twsmor

(C) =¥ Tk (D) TR TETeh

Which of the following is not a type of non-verbal communication ?

(A) Voice signal (B) Written communication

(C) Eye contact (D) Tactile contact
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13.

14.

15.

16.

17.

18.

19.

20.

fraferfga o & forg Twem 3 ¥ 2005 T $-FHHIN 61 IEATd H ?

(A) 3TT8.378. 8. HAR (B) 3l et TS g foreaforner™

(C) saTRTETE Tervafere™ (D) oot fovafaemem™

Which of the following institutions launched e-Gyankosh in the year 2005 ?

(A) NIIT Kanpur (B) Indira Gandhi National Open University
(C) Allahabad University (D) Delhi University

TIIfeh ATE-hTE T ITANT Hid T, gwm%mmﬁaww% ?
(A) Tomr foreft ufaey & Geesiier @i
(B) maﬁwaﬁﬁqwﬁ%%@aﬁﬁ@ T ITANT L

(C) \eft FXaT HUTIISH 37 i

(D) GEL o |TY AT e AT B

When using public Wi-Fi, what is a recommended practice to enhance security ?
(A) Access sensitive account without any restriction

(B) Use a VPN to encrypt your connection

(C) Disable all security settings

(D) Share your connection with others

Jeafdn § . d e, & e Hd 7

(A) TII T ATh (B) agaTet ufeeter eah

(C) ITusIet UTgae Aeaeh (D) IT®IEE UTEae I

What does ‘VPN’ stand for in networking ?

(A) Virtual Private Network (B) Virtual Public Network

(C) Variable Private Network (D) Verified Private Network

IRA H S=sia Te Afafem e qiid g3t ¢

(A) 1972 (B) 1968 | (C) 1980 T (D) 1986 T
When was the Wildlife Protection Act passed in India ?

(A) 1972 (B) 1968 (C) 1980 (D) 1986
Frrferfign # & - o e e 7 S 2 7

(A) e SEAGHES  (B) I8 HHISTFEES  (C) HiAA (D) T3¢H HATFTES
Which of the following gases does not cause greenhouse effect ?

(A) Carbon dioxide (B) Carbon monoxide (C) Methane (D) Nitrous oxide

agHed o ey M|l 61 dedt Jgar & HefaRaad e yura €, % sAfdied
(A) CO,®féamselRe  (B) Tleel aTfH (C) TSI & (D) Safafaerar # gfg

The increasing abundance of greenhouse gases in the atmosphere has the following possible affects, except

(A) CO, fertilization (B) Global warming (C) Ozone depletion (D) Increase in biodiversity
fr=ferfaa & @S- Tk RA *1 HEW U B 7

(A) I (B) =18 (C) g% (D) VST

Which one of the following is an artificial port of India ?

(A) Cochin (B) Chennai (C) Mumbai (D) Kandla

A & fore T & Te@ 31feh STaTse 1 3cared 8T 8 7

(A) STEE (B) hiieh (C) sfewn (D) BEETE

Which State of India is the largest producer of Bauxite ?

(A) Jharkhand (B) Karnataka (C) Odisha (D) Chhattisgarh
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21. 3fid g § dfieHTg § 89 aTell a9l o1 TR 1 8 7

(A) Tad= (B) wfd =kt (C) T (D) <shaTc
What is the type of rainfall that occurs in Tamil Nadu during winter season ?
(A) Mountainous (B) Anti cyclonic (C) Convectional (D) Cyclonic
22, ‘IATeH g < TTOAT feReH i 7
(A) Tt fererepTg (B) T T Higd T
(C) @t =< [T (D) e I <o
Who founded the ‘Atmiya Sabha’ ?
(A) Swami Vivekananda (B) Raja Ram Mohan Roy
(C) Swami Dayananda Saraswati (D) Radha Kant Dev
23, fifefiga § @ fp8 1938 § GWTY o5 &9 o TATTYSA ¢ o qv=Td URATT TS Hhid T & AT
™Y
(A) TeTHHTS T (B) SETEATA EE (C) ot s8e (D) Ei. TSig JETe

Who among the following was elected as President of the Indian National Congress after Subhash Chandra
Bose resigned in 1938 ?

(A) Vallabhbhai Patel (B) Jawaharlal Nehru  (C) Annie Besant (D) Dr. Rajendra Prasad
24. G — | I FAT — 113 H1Y GHIAG hITC qUT Fli o6 1<l U T e § § T 3| AT ¢
Tl - | T -1
(Srder) (3ATETE)
a. 9T TR foaetsh . Reem®d 3Trgrer
b. SMeha et Il. 1857 fagre
c. TaTeT Teft ll. TesM TG (1905 ¥ 1907)
d. SETg 28 IV. STEEAM JATGeH
%
a b c d
(A v Il I
B) | 1 v
(C) I v Il
(D) 1 v I
Match List — | with List — Il and select the correct answer from the code given below the lists :
List -1 List -1l
(Originator) (Movement)
a. Bal Gangadhar Tilak [. Khilafat Movement
b. Shaukat Ali II. 1857 Revolt
c. Mahatma Gandhi Ill. Swadeshi Movement (1905 to 1907)
d. Bahadur Shah IV. Non-Cooperation Movement
Code :
a b c d
(A v Il I
B) | 1] v
(C) I v Il
(D) 1 v i I
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26.

27.

. IS TN % SR H e § § SH-91 Y9 99 8

(A) T8 U il freer 2 @ fomfea 7€t fopem s wepar |
(B) sHeh! fgfert wermwst gry bt <t B |

(C) 38 U IUfigaRi ! AT TN T T BRI B |
(D) ¥ hae YA IATY F A HETA Bl 2 |

Which of the following statements about the Election Commission is true ?
(A) Iltis a permanent body that can not be dissolved.

(B) Itis appointed by the Prime Minister.

(C) It has the authority to disqualify the candidates.

(D) It only operates during election period.

GO A e §

(A) srfuTfersht, farenfent & ufe saeerh @
(B) farenfirent, srfurferent % ufa Iaeerh 2
(C) =amuTtereht, Taemfest & fa Iert &
(D) HRITIAhT, =TIUTieTshl o Tfd STeR 8

In Parliamentary form of Government

(A) Executive is responsible to legislature
(B) Legislature is responsible to executive
(C) Judiciary is responsible to legislature
(D) Executive is responsible to judiciary

qYe & fora ged & el 9 Yrashod gfufa wfed i St 8 ¢
a. i T
b. TSI 941
c. Tl Fedl o =il 9
d. Tsgufd g AHId Teet |
= feu o faehedt & @ T W g -
(A) o a (B) ST a AN b
(C) e d (D) ¥ a, b 37X d
The Estimates Committee is constituted from the members of which House of Parliament ?
a. Lok Sabha
b. Rajya Sabha
c. From members of both Houses

d. From members nominated by the President
Choose the correct answer from the options given below :

(A) Only a (B) Onlyaandb
(C) Onlyd (D) Onlya,bandd
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28. T — | %l FEH — Il h 1Y GHTT HINT T Frerai o =l T T Fe H & T&l W g
T -

gt -1l
a. UeH fary . g deY A% A3
b. YUY HeUH II. g TR 31w gehiATiires Ter
c. ST, oifod . sefifafasa we sssae SaaTHe
d. FHR A Iv. T AT ¢ Tifades 31 aiegereH
®e:
a b c d
(A) Nl 1] v I
B) I v Il 11
©) 1 01l Il v
(D) 1 v I Il
Match List — | with List — Il and select the correct answer from the code given below the lists :
List -1 List—1I
a. Adam Smith [. The Wealth of Nations
b. Thomas Malthus Il. The Theory of Economic Growth
c. W.A. Lewis lll.  Imperialism and Unequal Development
d. Samir Amin IV. Essay on the Principles of Population
Code :
a b c d
(A) I 1] v I
B) I v Il 1
C) 1 1] Il v
(D) 1 \Y Il Il

29. H TIC 2025 — 26 TohE TS § @M SIS’ | Sd i 1 S&dmd fean /= 8 7

(A) ST 3T heEiT (B) forem
(C) ST ¥ew (D) 3T e
In Union Budget 2025 — 26, ‘Makhana Board’ is proposed to be set up in the State of
(A) Jammu and Kashmir (B) Bihar
(C) Uttar Pradesh (D) Andhra Pradesh
30. N TSI 2025 — 26 H HATS 1 T8 §1 €I hal ¥ 37 HT SIH & 7
(A) TEHRT L (B) =& Td BT HT
(C) 3T = (D) H&eH S
In Union Budget 2025 — 26, the largest source of earning is estimated to come from
(A) Excise Duty (B) Goods and Services Tax
(C) Income Tax (D) Customs Duty
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31. Frfafiga § & S5 Ser devda 61 fagwar & & 2
(A) W97 3T 3Tfiyeafaa 6t Tdean
(B) TSHHITdeh Tl ol TITSA hid T HATUHR
(C) hrsiiepa ToaitsH
(D) T HET & TG § I
Which one of the following is not a feature of liberal democracy ?
(A) Freedom of speech and expression
(B) Right to organise political parties
(C) Centralised planning
(D) Elections under neutral agency

32. fr=fafad o @ w-wt te foamumr &1 9 2 o6 gyEan 6t s@umen w aeHifos g @ ger o

=Ry ?

(A) SgeTaTq (B) 3Te¥iaTg (C) wrEtaTe (D) WTFEaT

Which one of the following schools argue that the concept of sovereignty be removed from political theory ?
(A) Pluralism (B) ldealism (C) Fascism (D) Marxism

33. frafafed § @ o-wr ugufa wmee =ewen S famar 7= 8 2
(A) T<T 3T HTHR % TIH & &I hls U A&l
B) Tifzera Rt
() Taerwest &t Hifta wifdaat
(D) ST T JFRTT
Which one of the following is not a feature of Presidential form of government ?
(A) No difference between head of state and head of government
(B) Fixed tenure

(C) Limited powers of legislature
(D) Separation of power

34. Ahdd ol H-1 g rTienl o TsHIfde TR ol 39 gfiesd a1 @ ?

(A) SereTdl forgrd (B) 3t firgia

(C) wEeaTd! frgra (D) HrerdaTe! frgra
Which theory of democracy accords high priority to political rights of citizens ?

(A) Liberal theory (B) Elitist theory

(C) Pluralist theory (D) Marxist theory
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35. T - | 3R G — 11! gAfera Hifre 3 A= few MU el & Tt 3T H T H |

Tt - | (Regia) et — |1 (sture)
a. JATYATG i. TG ST
b. Fa-IfaTE ii. TRIes A9
c. 3CRdTg iii. TH. €I, AR
d. F9-3gRaTg iv. I TF. TS
&S
a b c d
(A) i i iv il
B) i ii iii iv
(C) iv iii ii i
(D) iii i iv i
Match List — I with List — Il and select the correct answer from the codes given below.
List — I (Theory) List — Il (Proponent)
a. Realism i. Fareed Zakaria
b. Neo-realism ii. Reinhold Niebuhr
c. Liberalism ii. S.D. Krasner
d. Neo-liberalism iv. Joseph S. Nye Jr.
Codes :
a b c d
(A) ii i iv i
(B) i ii i v
(C) iv iii ii i
(D) iii i iv i
36. “TrsgdTe TMfeeh foam, drgfesh W qem amfesh e ITae <l Jorett & 17 g it ferem € @ 2
(A) TS TFeA o B) 5= 3
(C) 3. wg. et 3 (D) Tefiegmer &R
“Nationalism is a way of corporate thinking, corporate feeling and corporate living.” Who has given this
definition ?
(A) Lord Acton (B) Zimmern
(C) J.S. Mil (D) Rabindranath Tagore
37. fopEm s I T I 99 o TS o ®9 T FAAIAT Tehe i dTeAt WTSHT % Teh TSR o &9 H qHaTid
R ® ?
(A) EHEATA I (B) T firgm
(C) ST TMeR faeTeh (D) H9E s
Who defined nation as ‘a community of sentiment which would adequately manifest itself in a state of its
own ?’
(A) Deendayal Upadhyay (B) Anthony Giddens
(C) Bal Gangadhar Tilak (D) Max Weber
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g - I
(Tatem foemer)

i, .S 'l
i, TerITeet!
jii. <A gisq
iv. ST &b

39.

247

et feu MU el § ¥ HE I B =TI i

Match List — | with List — Il and select the correct answer from the codes given below.

List -1

(Name of books)
a. The Discourses

(Tt & M)
a. ¢ fewrrag
b. T ShITT qiferfeshl
c. e HIMHT AT
d. SHIEA
He:

b c d
(A) v i i
(B) ii i i v
©)ii i v
O) i i v

b. De Corpore Politico

c. Letter Concerning Toleration

d. Emile
Codes :
a b
(A) i iv
(B) ii i
(©) ||| ii
) i

(D

H= & e feu e €, sk i aifirRe (A) 3R gEL 1 ek (R) el T R |

List—1I

(Related Thinkers)

i. J.dJ.Rousseau
i. Machiavelli
iii. Thomas Hobbes
. John Locke
Choose the correct answer from the codes given below :

GET IT ON
Google Play

AT (A) : T 3G o G Tesil, AfeshR 3R ggard faete 6t feama & g d 9 |

T (R)

ﬁaﬁw%
A) i T8l e T8 @

:Tﬁmﬁiﬁaﬁmﬁaﬁwﬁ%m%mﬁawaﬁm%ﬁ%maﬁwﬁ
SO |

W%ﬂﬁ%mﬁﬁmﬁﬁﬁwﬁﬁﬁﬁwmwgﬁ:
) (A) 3T (R) THT Tt B 31 ( R)

<B (A) 3 (R) <HT & @ W (R
) (A)FE 8 T (R) TOId &

(D) (A) W%W(R)%‘T%

Given below are two statements : One is labelled as Assertion (A) and other is labelled as Reason (R).
Assertion (A) : Swadeshi, boycott and strike constituted core of Tilak’s ideology during national movements.

Reason(R)

(B

(D

: These ideas were later adopted by Ambedkar to pursue his goal of social justice.

In the light of the above, choose the correct answer from the options given below :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(C) (A) is correct but (R) is not correct
) (A) is not correct but (R) is correct
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40.

41.

42.

= < e fou T 2

HUA — | : IR T o Whfas frgra # favam = 9 |

HUA — |l : 3 3rfereprl it srfoderdr W o <1 =T U |

ST HUFT o IATeh H, FIfRd fashedt o @ waiies e W I
(A) YT — | IR HI — I S T &

(B) U — | I HH — || ST TeAd &

(C) ®oH — | | & fohe oM — 11 7TeTd &

(D) U — | TTTd B Toheg HoH — 11 T &

Given below are two statements :

Statement — | : Ambedkar believed in natural theory of rights.

Statement — Il : He wanted to emphasise indissolubility of rights.

In the light of the above statement, choose the correct answer from the option given below :

(A) Both statement — | and statement — Il are true
(B) Both statement — | and statement — |l are false
(C) Statement — | is true but statement — Il is false
(D) Statement — | is false but statement — Il is true

SATA e o TSI &3F H Tl hH TgaTHT |
(A) STeRfeh 3Ta%eN, 3TJad, AT I, Tafieh JfHR
(B) -afifer HfUHR, WTehfeh 3TaweM, AFRE THIE, 3199
(C) 3194, TTh{deh LT, TN TH, Tafife HfUHR
(D) afier fURR, Thfceh STawe, 7Y, AFTNES THIS
Identify the correct sequence in the political philosophy of John Locke.
(A) State of nature, contract, civil society, natural rights
(B) Natural rights, state of nature, civil society, contract

(C) Contract, state of nature, civil society, natural rights
(D) Natural rights, state of nature, contract, civil society

T GHA I =TI HIT
(A) TR geffe - ®. Tse frem
(B) 3TRRH W 3MTH JATHTIh - U feew
(C) T Trg ATA-TEHT 3efie - &t @
(D) e TSI - fier 9w
Select the incorrect match :
(A) Power Elite - C. Wright Mills
(B) Iron Law of Oligarchy - Robert Michels
(C) Governing and Non-governing Elite - V. Pareto
(D) Culture Industry - Gaetano Mosca
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43. g -1 W gH - 11 ¥ gAfera Hfe 3R i fe e el @ w3 I i |

it -1 gt -1l
a. HIENI HI AHTITED | T
b. HEME e II. STt AT
c. I . Sf=
d. 99 TEEw & IV. T SR
%
a b c d
(A) I Il I v
(B) I Il Il Y
(©) 1] I I Y
(D) I I Il Y
Match List — | with List — Il and select the correct answer from the codes given below.
List -1 List -1l
a. Dictatorship of Proletariate I. Gramsci
b. Communist Party Il. Karl Marx
c. Hegemony lll. Lenin
d. New working class IV. Tom Bottomore
Codes :
a b c d
(A) I Il I \Y)
(B) I Il Il Y
(©) 1] I I Y
(D) I I Il Y

44. Tr=fafaa @ @ i S & IHER, =aERARE & HH-91/3 d&T 8 7
1, STAERATE] LT helcl FcATIH qehTeh] TIIT TS YesiH Hior shl <ieg 7= 2 |

2. ATEhIehLUT, STAEATIGHTT, HHIAT Ta HEH STTERaTe! S| 6 & acd 2ld & |
= feu Tu fospedi ® & W& IW A1 == I

(A) had 1 (B) e 2 (C) THI 1 3R 2 (D) T A1 &2
Which of the following is /are the main aims of behaviourism, according to David Easton ?
1. The behavioural studies aim at the verification, use of techniques and model
building only.
2. The quantification, systematisation, integration and regularities are the main
elements of behavioural studies.
Choose the correct answer from the options given below :

(A) Only 1 (B) Only 2 (C) Both1and?2 (D) Neither 1 nor 2
45. T TEhfd W fa=m o faem 2q oame 3R swen 3 ffafad 9 & fha w <o o ot sere
feRam o ?

(A) v (B) Hfeent (C) I (D) SeSrTITT
Which one of the following countries was also studied by Almond and Verba to evolve the idea of ‘Civic
Culture’ ?

(A) India (B) Mexico (C) Argentina (D) Indonesia
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46. TreAferiga # & s-a1 3w wd) gifea 7&i & 7

(A) 3 S — T O™ A6 TEHHS
(B) =mew AfEm - 3TE 3T uiftfedd
(C) sfue $&A - § W 3% gigfefhe fateqym
(D) & STerd —  FEA TR At
Which of the following pairs is incorrectly matched ?
(A) Arthur Bentley —  The Process of Government
(B) Charles Merriam —  New Aspect of Politics
(C) David Easton —  The Structure of Scientific Revolution
(D) Graham Wallas —  Human Nature in politics
47.  ICHH & FTER, YT faem 6t fraferfaa srewemd § |
1. Tehleh{ul
2. IfEmfiet
3. T
4. TS e
el feu T e 1 wERET & HE HreHA St ard |
&S
(A) 1234 B)1 2 4 3 (C) 1 3 42 (D) 213 4

According to Organski following are the stages of political development.
1. Integration
2. Industrialisation
3. Abundance
4. National welfare
Indicate the correct chronological sequence with the help of codes given below.
Codes :
(A) 1234 B)1 2 4 3 C) 1 34 2 (D) 213 4

48. 3eE & AR, Ffelaa @ @ syawen i fasivand -5 @ 7
1. TSIl IT THIAT

2. I
3. "3t 1 e

4. GEIEAT <hl IucAsdT

3 fow o @ @ W S B AR

He
(A) 1, 2 3R 3 (B) 1, 2 X 4 (C) 1, 3 3 4 (D) 2, 3 3 4

Which of the following are the characteristics of the system, according to Alimond ?

1. Comprehensiveness

2. Interdependence

3. Existence of boundaries

4. Availability of resources

Select the correct answer from the codes given below.
Codes :

(A) 1, 2 and 3 (B) 1, 2 and 4 (C) 1, 3 and 4 (D) 2, 3 and 4
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49. I -1 I FH - 11 o WY GATAA FHiforg 3R A= fou 7T el § T FE W H T HINT |

G it -1l
(I==) (e | HUTG)
a. fran-fafasm 1 seu fwfca |. sifeea
b. & 3T fafersm II. %. TF. e
c. B9, T W< Ug aR NI, 3. 37, FARA
d. 3rdeme Iv. &ft. Shehe
®e:
a b c d
(A) v Il 11 I
(B) 1] v Il I
(©) Il v 1] I
(D) I Il 1] v
Match List — | with List — Il and select the correct answer from the codes given below.
List -1 List -1l
(Books) (Author/ Editor)
a. Neo-realism and its Critics I. Kautilya
b. Roots of Realism II. K.N.Waltz
c. Man, The State and War lll. R.O. Keohane
d. Arthashastra IV. B. Frankel
Codes :
a b c d
(A) v Il 11 I
(B) 1] v I |
(©) Il v 1 I
(D) I Il 11 Y,
50. fohde HEETE 1 T-STEE TR ATS-IE o €9 ufenfya feem '
(A) I TR (B) S+ fertehs (C) Hifeca (D) SHTes ©H
Who defines federalism as a system of ‘Self-rule and Shared-rule’ ?
(A) Daniel Flazar (B) John Kinkaid (C) Kautilya (D) Donald Stone
51. fr=fafea @ @ w4 toHifas faemm &1 fagasr & 8 2
(NS ERERIE (B) S o1 wTeirwa
(C) e fa=we (D) ST it
Who among the following is not a Theorist of political development ?
(A) Lucian Pye (B) Joseph La Palombara
(C) Arendt Lijphart (D) James Coleman
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52, Tfeifiga waaarati @l IR |fau™ & 3Te0e 19 § 3 T&d &H o A H Safead it |
1. Torelt oft sraE™ =1 HE |
2. |9 A1 JHEH T |
3. VN o forell off &= T &I a1 ST |
4. fom gfeEm & wifqds whiya g |
= feu o faehedt & @ T 3T A g |
(A) 1,2,3,4 (B) 4,3,2, 1 (C) 2,4,1,3 (D) 4,2,3, 1

Arrange the following freedoms in order of their appearance under Article 19 of Indian Constitution.
1. To practice any profession.

2. To form association or union.
3. To reside or settle in any part of the territory of India.
4. To assemble peaceably and without arms.

Choose the correct answer from the options given below :
(A) 1,2,3,4 (B) 4,3,2,1 (C) 2,4,1,3 (D) 4,2,3,1
53. W Tefiy yawer i fomivam 2 :

1. wIfaa @1 W= |

2. wiferd T YR |

3. TAA AU |

4. G 1 A7 |

5. fetftga dfaam |

= fou T fashedt # @ w 3T 1 A HIT |
(A) 2,335 (B) 1,435
(C) 1,235 (D) 1,335

The features of Indian federal system are :
1. Division of power.
2. Separation of power.
3. Independent judiciary.
4. Leadership of the Prime Minister.
5. A written Constitution.

Choose the correct answer from the options given below.
(A) 2,3and5 (B) 1,4and5
(C) 1,2and 5 (D) 1,3and5
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54. WA = Usgufd i Feenfessr wfed o fr=faRea o @ foree aams= 2 2

1. et fueTieer |
2. qui fenfespr |
3. focieerl fmenfaer |
4. g3 fenfaer |
= feu e faeshedt & @ @El 3T H1 A FHINC
(A) 2313 (B) 1,334 (C) 2,33 4

The Indian President’s Veto Power is a combination of
1. Pocket Veto.
2. Absolute Veto.
3. Suspensive Veto.
4. Qualified Veto.
Choose the correct answer from the options given below :
(A) 2and 3 (B) 1,3and 4 (C) 2,3and 4

55. dU U el 1 3TN i 7Y T=fcfiad =i sierdspa § safead i |

1. ShIEMG W o |
2. TASTY HH |
3. frat firew =9 |
4. o= g +9 |
e
(A) 3,2,4,1 (B) 1,4,3,2 C) 4,2,1,3
Using the given codes, arrange the following chronologically.
1. Keshavanand Bharti Case.
2. Golaknath Case.
3. Minerva Mills Case.
4. Sajjan Singh Case.
Codes :
(A) 3,2,4,1 (B) 1,4,3,2 (C) 4,2,1,3
56. Tfeafeert
1. SieR wfshan gog o fafte <won & g1t ot @ |
2. U A HHG H T2 o1 TEATHT H BT & |

3. 3H% YEUH T G 989 o o1 §oie bl 918 L fean Simar 2 |

4. fafrnm fadees gmm= s = femm g 2 |
5. fomt fatmes wuu™ w1 fagwes g 2 |

fro feu U foaehedi § § HE ST T T R
(A) e 1,2, 3 (B) et 1,2, 4 (C) HaA 2, 3, 4
Insert stem.

1. Budgetary process passes through certain stages in parliament.

2. It begins with presentation of budget in the house.
3. Budget is passed after general discussion on its provisions.
4. Appropriation bill is a part of general budget.
5. Finance bill is a bill of taxation.
Choose the correct answer from the options given below :
(A) 1,2,3o0nly (B) 1,2,4only (C) 2,3, 4only
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(D) 1,2 3 3

(D) 1,2and 3

(D) 2, 4, 3, 1
D) 2, 4, 3, 1
(D) % 3,4, 5

(D) 8, 4, 5 only
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57. SITadiCeRt
1. TS ifers &9 | foifew sreferaen &1 fo=m o |
2. WA 4 3 qd Hifgwd @9 & 37fieha fomam o |
3. WA ® feeH & ge faufar Semeterd s 3 |
4, YA H 379 T T5E TEaNTd A 1 fham=hee 83T 7 |
5. gauH § <9 ¥ Hfifa AR fReH 1 v s 7 |

e feu o fashedt & @ €l 3T H T R

(A) e 1,2,3 (B) a2, 3, 4
(C) e 2, 3,5 (D) e 3, 4,5
Insert stem.

1. Planning was originally the idea of British economy.

2. India adopted it from former Soviet Union.

3. Jawaharlal Nehru was the main architect of planning in India.
4. India has implemented fifteen five year plans so far.

5. Presently NITI Aayog is the mainstay of planning in the country.

Choose the correct answer from the options given below :

(A) 1,2, 3only (B) 2,3, 4 only
(C) 2,3,50nly (D) 8,4, 5only
58. fmfafga Hifq fcses fagiat st widie dfaum § 39 e 819 o 98! shH § sqafed hifs |
. T = 3R iy fafe wermar |
II. —ATIITfcAhT hl HTehlfcTehl & Tk AT |

1. TTH 9= <1 T34 |
IV. sH=iE o fow fAafe aq9 sard |

= feu e faeshedt & @ @&l 3T A g
(A) IV, 1L 11, | B) 1,111, IV, I
(©) I, 11, 111, IV (D) IV, 1, 11l, II

Arrange the following directive principles in order of their appearance in the Indian Constitution.
I. Equal justice and free legal aid.
Il. Separation of judiciary from executive.
Ill. Organization of village panchayats.
IV. Living wage, etc. for workers.
Choose the correct answer from the options given below :
(A) v, 1Ll B) I, 1,1V, 1
C) L, v (D) IV, L
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59.

60.

feffea i a P-a Fem T & 7
a. WA # A GUR 3rcferes 3mfea 2 |
b. &t dt. Shie= gt Afufa 3 grat & T a1 feme fopam |
c. Tl Tt |fEfd 3 gAIsT % Uy fomder 61 wwedA foRa |
d. I IR Sl 319 TUE g TR L foram T 2 |

= feu o fashedt § @ El W H T Hf
(A) e a, b, ¢ (B) %ad a, ¢, d
(C) %ad b, c, d (D) e a, b, d

Which of the following statements are correct ?
a. Electoral reforms are much desired in India.

b. B. P. Jeevan Reddy Committee opposed state funding of elections.

c. Indrajit Gupta Committee supported state funding of elections.
d. Electoral reforms have now been accepted by Parliament.

Choose the correct answer from the options given below :
(A) a, b, conly (B) a,c,donly
(C) b, c,donly (D) a, b, donly
T s W frefaRaa afufeet o adt wegse 8 e |
|. 3T Hedl |iwfd |
II. Tet. uH. Tt wfufa |
. sf. <. <. T | |
Iv. . 3. g afifa |
A fow e foreedi B @ TR SO IRR
(A) 1, 11,1, 1V (B) IV, 11, 11, 1
(C) L v (D) LIV, 1n

Arrange the following Committees on local government in chronological order.

I. Ashok Mehta Committee.
II. L. M. Singhavi Committee.
lll. G.V. K. Rao Committee.
IV. P. K. Thungan Committee.

Choose the correct answer from the options given below :
(A) LI, v (B) v, 11, 1,1
©) L, v (D) I, IV, L, NI
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61. fr=fciRad et W fomm Hifse 3R 3@ o =+ fia Hifv |
1. UM 1 979 3T % ®9 H Fge 2N arel e 3 fore 2w s afentyd fo # |

2. HfaYU™ 3 IAE Y I G b YR I IRATYG T8 foham 2 |

= e T foshedt ® € W IT T T HINT |

(A) HaA 1 (B) et 2

(C) 1 3R 2THl (D) Tl 13 AL 2
Consider the following statements and indicate the incorrect one.

1. Constitution has defined the qualification for a person to be appointed as the Election
Commissioner.

2. Constitution has not defined the grounds for removal of the Election Commissioner.

Choose the correct answer from the options given below :
(A) 1only (B) 2 only
(C) Both 1and 2 (D) Neither 1 nor 2

62. 731 BfGUM IEE T=Edt T HEA13T o1 ffoifaa § & 921 Jg i1 =mgar & 7
1. Gaerfaeh gt
2. Torfiar @@=
3. gfd Tt <l Fferashtor

4. Taehgiepa frIeH
= feu o foashedt @ @ Tl W g -

(A) 1,23 3 (B) 1,2,33M 4
(C) 2,33 4 (D) 1,23 4

73" Constitutional amendment seeks to provide which of the following for Panchayati Raj institutions ?
Constitutional status
Financial autonomy

Empowerment of marginalised sections

A 0 b=

Decentralised planning

Choose the correct answer from the options given below :
(A) 1,2and 3 (B) 1,2,3and 4
(C) 2,3and 4 (D) 1,2and 4
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63. frfefaa wemtl W famm Hifve 3t ot s g |
1. Afavara yEara § e T9HaT 1 9HE A1 disd qiyfad T8 8 sfcw I8 TR 6 ifg

Crsicani il
2. TEIREIT J&aTd uTid &1 ST st feufa § syagries w9 @ wsgufd &1 ardsiies sfae daTg & 91 &

T BT 2 |
e feu U faeredi @ @ T 3T 1 =H HIT |
(A) e 1 (B) et 2
(C) 13 2gHI (D) T 13 ATE 2

Consider the following statements and choose the correct one.

1. A no confidence motion does not involve disgrace or imputation of moral turpitude
but is only a disapproval of the government policy.

2. An impeachment motion will practically amount to the ruination of the President’s
public career, if passed.

Choose the correct answer from the options given below :

(A) 1only (B) 2only

(C) Both1and?2 (D) Neither 1 nor 2
64. YR T g o -y fhe +ar ?

(A) . TTH (B) &. H. ®W

(C) WX AR S (D) THfae 3rifee

Who called Indian federal system as ‘Quasi-federal’ ?

(A) K. Santhanam (B) K. C. Wheare

(C) Sir Ivor Jennings (D) Granville Austin

65. U TS ST B Y JUITell shl SCe-T 7 8 7
(A) T TR W W -3 sl Teh TR JT=-1T
(B) U 3T @g T W LI T-3mad &t fg-wadia =
(C) 7, We, el 3R TsT T W LA T-3MEH 61 I a8
(D) UM, @ R eI T’ W W -8 i -l gt

What is the system of governance in the Panchayati Raj set-up ?
(A) Single tier structure of local self-government at the village level
(B) Two tier system of local self-government at the village and block levels.

(C) Four tier system of local self-government at the village, block, district and state
levels

(D) Three tier structure of local self-government at the village, block and district
levels
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66. Trfalad § & HH-HT HAT TA & ?
a. THeATo] SRTEA 1 Tk ST qorsli | g3 |
b. $H 3TN THTST hl ATHTRTh THRNSAT ol & i I AT ThaT |
c. 3T Tey faeiar, it 3 31wl 99 gegi ¥ 2 |
d. 3EH TN bl g AT Te13TT bl YSH HET M 2 |
e. oAl yemed # it &= 6t SiE yftree T8 2 |
i feu U foeredi § @ wE 3T HT =T R
A) %dd a, b, ¢, d (B) &ad b, ¢, d, e (C) %ad a, b, d, e (D) %ad a, b, d

Which of the following statements are correct ?
a. Welfare administration developed in industrial societies.
b. It sought to address social problems of industrial societies.
c. It deals with issues of poverty, sickness and other sufferings.
d. Itinvolves delivery of host of social services to people.
e. Private sector has no role in welfare administration.

Choose the correct answer from the options given below :
(A) a, b, c,donly (B) b, c,d, eonly (C) a, b,d, eonly (D) a, b, donly

67. = q U fGu T 8 : T I ANTHUA (A) 3R G I T (R) a1 T2 |
e (A) : IR 61 Ffdfa o, Tietemdl ot fafaet Tenst & w9 ° 7€ gHgHn 9fe |
ek (R) : 9= <t Ffiffa <t fosivar geg federar 2 |
Wiﬁaﬁﬁ;mﬁﬁﬁmﬁWﬁﬁﬁﬂﬁ%ﬁWWﬂﬁ:
) (A) 3 (R aﬁaﬁr%:ﬁmm (A ) i HEl ST B
)(A)3ﬁI<R>aﬁaﬁ%w A) o HE =T e 2
(C) (A) TE g W (R) TeTd @
(D) (A) T & T (R) @& 2
Given below are two statements : One is labelled as Assertion (A) and other is labelled as Reason (R).

Assertion (A) : In Weberian formulation, bureaucracy is not to be confused with the
civil services.

Reason (R) : Weberian formulation has been characterised by value-neutrality.

In the light of the above, choose the correct answer from the options given below :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

)
(C) (A)is correct but (R) is not correct
(D) (A) is not correct but (R) is correct
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68. Trfeifad # & wiH-=1 %o @&l & 7
a. 9 % YL T f=R 1950 % €6 b AL T AT |
b. ThEITH ES 38 Th THE Teid ¢ |
c. U HrdIeh &5 % foTy 98 s 7 3= § |
d. I8 3E W Jaifed 2 |
e. Had A& 9 A% YSE o IUATH o |
Fra fed mu forepedl § @ 9E I w1 T R

(A) e a, b, ¢ (B) %had a, ¢, d (C) %ad ¢, d, e (D) %ad b, c, d

Which of the following statements are correct ?
a. The idea of new public management arose in mid-1950s.
b. Christopher Hood is one of its leading exponents.
c. Itis a standard prescription for ailing public sector.
d. Itis underpinned by 3Es.
e. Max Weber was precursor of new public management.

Choose the correct answer from the options given below :
(A) a, b, conly (B) a, c,donly (C) ¢, d, eonly (D) b, c, d only

69. = 1w few MU R
A — | : T YITEA TR o AL bl YT i ol Teh I ¢ |
HUA — | : SRS VIaTd! § T forgH STerrefien STamuT i 39 I i 3R ST 7T |
TG AT b 3ATeireh § FfTRad fashedt # & Haffuss Iwge W I -
(A) HUT —| I HH — || THT T &
(B) YT — | I HAUF — || THI Toid &
(C) 2 — 18T 7 Toheg 2 — 11 7Teta
(D) 2 — | TTeTd 7 foheg U — 11 T 8

Given below are two statements :

Statement — | : Public administration is an instrument of realisation of the goals of
government.
Statement — Il : In the eighteenth century German scholars felt interested in this branch

of academic enquiry.

In the light of the above, choose the correct answer from the options given below :
(A) Both statement — | and statement — Il are true

(B) Both statement — | and statement — |l are false
(C) Statement — | is true but statement — Il is false
(D) Statement — | is false but statement — Il is true
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70. 79 Sl I § -8 dcd IMUA & 7
1. JUMVRIT Shfegd ITEA
2. I TG
3. Tertentamdisto
4. Arehditaes fiofg fmfor
5. gSTEfe fsham = faehfegentor

frar feu o faemedi @ & T 3T T = A
(A) e 1,2, 3,4 35 (B) whaet 1,2 3N 3
(C) whaeT 1,3 3T 4 (D) et 2,3 35

The features of New Public Administration includes
1. Client —focused administration.
2. Post — positivism.
3. Debureaucratisation.
4. Democratic decision-making.
5. Decentralisation of administrative process.
Choose the correct answer from the options given below :
(A) 1,2,3,4and 5 only (B) 1,2 and 3 only
(C) 1,3 and 4 only (D) 2,3 and 5 only

71. Tafeafaa § @ frem somaa o wehisha gfvemion w1 awelq & fram 2 7

1. TA. Sl. @8

2. SIS HIgHA

3. T TfcTh

4. U, UH, HTH
Frar T U foaspeui A @ T 3T B T R

(A) 132 (B) 233

(C) 334 (D) 4 3T 1

Who among the following do not support the integral view of administration ?
1. L. D. White
2. Herbert Simon
3. Luther Gulick

4. F. M. Marx
Choose the correct answer from the options given below :
(A) 1and 2 (B) 2and 3
(C) 3and 4 (D) 4and1
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72. Tmafafea § @ forem “Foagms fd $i s@gmom & ¢

(A) &1 HE (B) TR e
(C) Tervea 3fde (D) Th. T, I
Who among the following has given the concept of “functional foremanship” ?
(A) Henry Fayol (B) Luther Gulick
(C) Lyndall Urwick (D) F.W. Taylor
73. IR Al FaT H Fe-Tgfd foheh el H YoH &9 7% off ?
(A) Tgafa arfmed (B) TgHfd AHTEH
(C) Tgufd geU o (D) Tgufd SehaA
The “spoil system” became a dominant feature of the American civil services during the period of which
President ?
(A) President Washington (B) President Jefferson
(C) President Woodrow Wilson (D) President Jackson

74. 9RA ¥ Ise awie &1 IRy fohg av § foram mm an 2
The performance budget was introduced in India in the year
(A) 1958 (B) 1964
(C) 1968 (D) 1978

75. fam=fafigd § 9 foma e 913l 1 Sooi@ YR Gfag™ § fpam T 8 ?

a. WA Temafes e
b. YR o9 qaT
c. YR gferd Sarn
d. 3Afaer wr™ =nfes Jen
e. WA forewr g

= feu o faehedt @ @ Tl 3w T

(A) a3fiRc (B) a, c3Md

(C) a, b3 c (D) a, b3 e

Which of the following civil services are mentioned in the Constitution of India ?

a. Indian Administrative Service
b. Indian Forest Service
c. Indian Police Service
d. All India Judicial Service
e. Indian Foreign Service
Choose the correct answer from the options given below :
(A) aandc (B) a,candd
(C) a,bandc (D) a,bande
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76. THAfREd § § SH-81 99 Al Ha1 AN § Fafd T8 2 7

(A) et (B) Te=td

(C) |37l <1 afiehtor (D) A Haeft fos
Which of the following does not concern the Union Public Service Commission ?

(A) Recruitment (B) Promotion

(C) Classification of services (D) Disciplinary matter

77.  Trefefad woql § @ HH-u1 U A Deft qoff % devl § g @i B v
(A) TE Arehad & fgrdal & &9 &
(B) ¥8 Wl & &1 ! AIH AT B
(C) FE 7T T 3R arsht ufqe st Hanadi # et 8
(D) TE UGl % AT ohl YIE Hid! 2

Which of the following statements regarding direct recruitment is not correct ?
(A) ltis in accordance with the principles of democracy
(B) It broadens the area of recruitment
(C) It brings new blood and fresh talent
(D) It widens the avenues of promotion

78. Trefeiitad § & Sged TP GO % W % HHA-U IEE ek TRl | Heftd § 7
(A) I=BE 50 — 51 (B) 3=8¢ 52 - 54
(C) 3=V 55-57 (D) S | & forell arfesse #

Which of the following Articles are related to the regional arrangements in the charter of the United Nations
Organisations ?

(A) Articles 50 — 51 (B) Articles 52 — 54
(C) Articles 55 - 57 (D) None of the above Articles
79. “TSHITaeh deH o Wfad &1 378 & - T I Wfad A gL TS o AfkTss 3R HET o FW B | T8
fereH et 7
(A) AT (B) B AR
(C) BT (D) w. Y. femy
“Power in political context means power of man over minds and actions of other men”. Who said this ?
(A) Morgenthau (B) Max Weber
(C) Hartman (D) M. G. Smith
80. Tmfafiga & @ wi-=1 v U feqd w1 aca T 2 2
(A) e (B) I4
(C) wmf=y (D) ATEH{ceh Tehdl hi Tl
Which of the following is not an element of national interest ?
(A) Power (B) War
(C) Peace (D) Protection of cultural unity
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81. Mg & THA TS T3 HINA ASHT I Higarel o
(A) T fowa < srefeaenat 1w
(B) ufvaft Jdr Sreferawenaii 1 gAfufm
(C) I IR <Mt <ht refeTemenaii 1 AT
(D) 3TShIehT <1 hT TTeTaweatt b1 YA

The Marshall plan brought during the cold war was meant for
(A) Building third World economies
(B) Rebuilding Western European economies
(C) Rebuilding economies of North American countries
(D) Construction of economies of African countries

82. TmAfeiRaa Setary ufteds aiel i SATHE § aferd Hifu |
1. To @ S (gt aem)

2. IS bl
3. HIUTRTH T
4. STt A
= feu T faehel # & 9 ST A A
(A) 1,8,432 (B) 2,4,13M3 (C) 1,2,4,3MW3 (D) 4,2, 3 3 1

Arrange the following climate change conventions in chronological order.
1. Rio de Janeiro (Earth Summit)

2. Kyoto Protocol

3. Copenhagen Conference

4. Bali Conference

Choose the correct answer from the options given below :

(A) 1,3,4and2 (B) 2,4,1and3 (C) 1,2,4,and 3 (D) 4,2,3and 1

83. fereet Td g Tob WRa & fcs gouii 3 s@eh! fogw ifa =t wrifoyd &g srfede ot fafawar o wehar &
fagial W I &1 YR Y= fmam @ 7
(A) oTEE areR=h (B) HehIeT hIfoTHT (C) |WE fHar (D) TSfa Tt

Who holds that India’s moral values also provided the basic for conduct of its foreign policy on principles
of peaceful co-existence and unity in diversity ?

(A) Thorston Wojczewski (B) Makoto Kojima (C) Margaret Fisher (D) Rajiv Sikri
84. T BR W\ e ferEfieRtor St A 1 famm ferem feam e 7
(A) AT TEE (B) ST THh. gt
(C) TaTSE 3MEoH it (D) Tfeman gzera
Who among the following presented the concept of ‘Atom for Peace’ as a disarmament plan ?
(A) Jawaharlal Nehru (B) John F. Kennedy
(C) Dwight Eisenhower (D) Nikita Khruschev
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85

86.

87.

88.

89.

. Ty=feftga ° 9 fova & st=ia 3tdehere & TR HH-4 8 ?

1. ShIfcepil SATdehdTE 3R IU-ShifdehIl 3TThaTg
2. Ty ATdshdTe, Ja ATdehdre 3T T HTdehdTe sheel
9 fow U feeedt § @ T S B gRE
(A) Haet 1 (B) haet 2 (C) 1 3R 2gHT (D) T 1 WA 2
Which of the following are the types of terrorism in the world ?

1. Revolutionary terrorism and sub-revolutionary terrorism.
2. ldeological terrorism, bio terrorism and eco-terrorism only.

Choose the correct answer from the options given below :

(A) 1 Only (B) 2 Only (C) Both1and2 (D) Neither 1 nor 2
M g’ Ireg 1 FANT e fope foram

(A) TTHER forada (B) HIGHUTS (C) SIS %l (D) T | HIg &I
The term ‘Cold war was first used by whom ?

(A) Professor Lipman  (B) Morgenthau (C) Bernard Baruch (D) None of these
HicTr THIT, 1962 T T &

(A) WRa-<H Har faare (B) Sficieht <ht aftrer Tme=n 4

(C) Wd 3T sficisht & MU Tade o (D) YU § & i &l
Colombo agreement, 1962 is related to

(A) India-China boarder dispute (B) Tamil problem in Sri Lanka

(C) Due to difference between India and Sri Lanka (D) None of the above
frafafad § 9 fore- Fawem TREISHr 3R e ITeal 1 S foha 7

(A) feritfe sigra (B) ST werfer

(OBLICIESRIEIEE] (D) faferar ge=a
Who among the following coined the terms ‘Perestroika’ and ‘Glasnost’ for the first time ?

(A) Leonid Brezhnov (B) Joseph Stalin

(C) Mikhail Garbachev (D) Nikita Khruschev
fraferfiga o @ form Ja1 7 E-FROw AEIeM I FTRiSE ST S8 o1 ?

(A) Toheer hret (B) heict TgETHT

(C) Siferad = (D) 7 & g TE
Which of the following leaders described the non-alignment movement as an ‘International Hoax’ ?

(A) Fidel Castro (B) Colonel Gaddafi

(C) Julius Nyerere (D) None of these
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90. = v forew Hifd & sR ¥ < % feg & |
oA — | : I8 wifd, fisrar, wifaqd @ rfeac qen afua el & Aey og 1 Aifd 2 |
HAA — || : Tg FIHTSIATE, STdaTe al IUIETE bl e shidt 2 |
ST % el | f fou M fashedt @ @ W Iw g |
(A) THT YT — | 3T HA — || T&l 8
(B) T YT — | 3T HAT — || TAd &
(C) YA — 1§ 2 fobrg A — Il 7To1a @
(D) U — | TTTd g Toheg oM — Il Tl B

Given below are two statements about the foreign policy of India.

Statement — | : It is a policy of peace, friendship, peaceful co-existence and bridge
between power blocks.
Statement — Il : It opposes imperialism, racialism and colonialism.

In the light of the above, choose the correct answer from the options given below :
(A) Both statement | and statement Il are true

(B) Both statement | and statement Il are false

(C) Statement I is true but statement Il is false

(D) Statement | is false but statement Il is true

91. T=fafad o | fohm T/ fepma o1 e 1964 § g1 &1 7

(A) ST GER ST (B) TSI WHETIERR TR

C) i =N U (D) T TAehdT TR
Which of the following commission/body was formed in 1964 ?

(A) Administrative Reforms Commission (B) National Human Rights Commission
(C) Central Bureau of Investigation (D) Central Vigilance Commission

92. wETeHT Meft TedT TSR A Af=m & IR 4 $HI9-8 HUF T & ?

a. Ig 2006 § 9T foharm am o |
b. 38 2006 § &l feranfmara femam mam o |
c. W H 38 < % 100 el o feparfaa fopam mmam o |
d. IE T T =X 1 100 T w1 vl gafeaa s @ |
e. THHT & UTHIVT &= & FILaT 1 I HET 7 |

Frr feu e foeredt § & W&l W HT I R

(A) I a, b, ¢ (B) % b, ¢, d (C) %ad ¢, d, e (D) %ae b, d, e

Which of the following are correct about Mahatma Gandhi National Rural Employment Guarantee Act ?
a. It was passed in 2006.

It was brought into force in 2006 only.

It was initially implemented in 100 districts of the country.

It secures 100 days of work per rural household.

. It aimed at eradication of poverty from rural areas.

Choose the correct answer from the options given below :

(A) a, b, conly (B) b, c,donly (C) ¢, d, eonly (D) b, d, eonly

®oooT
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93. g 3R “faeprd o fotw wrfiert 3@ i wursr W fava <& i furd ° e oo fezm mm on 2

(A) 1992 " (B) 1997 ®

(C) 2000 H (D) 2003 #

“Good governance” and “participative civil society for development” were emphasised by World Bank
Report of

(A) 1992 (B) 1997

(C) 2000 (D) 2003

94. Tr=fafga § & -t |fufa 3 wRa § @A (0) T T (M) T84 & fmior 6t fqwiiar $i ot 7

(A) 3TTies |firfa (B) TS Tt

(C) T Wit (D) TETAT TfHfa
Which of the following Committee recommended for creating O and M organisation in India ?

(A) The Economic Committee (B) The Appleby Committee

(C) Santhanam Committee (D) Gorawala Committee

95. Tmafafea & & yra & FRufeR1st & HH-8 $& & 7
1. 9fi w1 fafee ofit arftfeurfaeht smamt 6 grafa
2. HIEhideh ThATRATT 3R ITRT &1 F=eH
= feu o fashedt & @ TE W g ¢
(A) HaA 1 (B) A 2 (C) TFT 1 32 (D) FaT 13M A& 2

Which of the following is/are the functions of municipalities in India ?
1. Regulation of land use and promotion of ecological aspects.

2. Cultural activities and running of industries.

Select the correct answer from the options given below :

(A) Only 1 (B) Only 2 (C) Both1and2 (D) Neither 1 nor 2
96. JHTcH TSN o foTu frfeTRad o & fora gfseenivr g0 qorTees A=A 1 STINE 9= qliehl S
fepan TR o ?
(A) TI-TETG (B) TI-TTITETE
(C) SIZRATE (D) IH-HIERATG

Empirical mode of comparative research was introduced by which of the following approaches to
comparative politics ?

(A) Neo-statism (B) Neo-institutionalism
(C) Behaviouralism (D) Post-Behaviouralism
97. YT ket ardl i rauron Fr=falaa # @ ford foames gra & 8 oft 2
(A) &8 Fot (B) HifE gask
€) e arer (D) 11 & I &
The concept of modern cadre party was given by which of the following thinkers ?
(A) Rudd Koole (B) Maurice Duverger
(C) Giovarni sartori (D) None of these
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98. $fde Sk i Tk SxEwRn i gedt i SrauRen FEfeiiad § 9 fh e A T s A A T R
(A) Hifees o
(B) =R fosm
(C) |rTfSTh iz
(D) e famm

David Easton’s concept of persistence of the political system is originally derived from which of the following
disciplines ?
(A) Physical sciences
(B)
(C) Social anthropology
(D) Biological sciences

Communication sciences

99. fi=feftga § 9 for TuTSISIER 3 SIS -ThRIcHS foweT ol W iRt 3TeHUe o R <l IR fomm 7

Which of the following sociologists inspired Gabriel Aimond’s work on structural - functional analysis ?
(A) Talcott Parsons
(B) Emily Durkheim
(C) Karl Marx
(D) Karl Manheim

100. Tr=feifaa # @ - wife /e i foewar 78 2 7
(A) F& Th TeHh JAMHN 2
(B) 3H TARISH 19 & BT &

(C) THHI TeATESH HW & BIal 8

(D) TE 3refieedi bt ol Giga 1 rferpr B

Which of the following is not an feature of power ?
(A) This is a managerial right
(B)
(C) Itis delegated from above
(D)

It is always delegated below

This is a right to assign work to subordinate
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